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program

Program

I

Machine-Oriented
Language

Problem or Procedure-

Oriented Language
(High-Order Language)

Machine
“%Language

I I
Low-Order Algebraic
Language Language

Business or Commercial
Oriented Language 1
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fWt¶@i3  (Operation) a91~%Pdm3PJ~PJ~SlP(Operation  code)

mm~89 nl941 Assembly .

!J33g (Load) 10 L

Lh (Store) 1 1 ST

¶J-Jn  (Add) 20 A

RPJ  (Subtract) 2 1 S

m 611X-l  A s s e m b l y  1 emlGJ1u

El33’j!  Income a?h”ll¶J%U  Accumulator (1%

RUTAX  OOnQlf-  Accumulator

111 2 9A7j ST&NETPAY  j a?iwilsln  Accutnulator  1%  NETPAY
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IDENTIFICATION DIVISION.
PROGRAM-IO. TOTAL-OF-15-NUMBERS.

ENVIRONMENT  DIVISION.
CONFIGURATION SECTION.
SOURCE-COMPUTER. CVBER-74.
OBJECT-COMPUTER. CVBER-74.
INPUT-OUTPUT SECTION,
FILE-CONTROL.

SELECT DATA-FILE ASSIGN TO CARD-READER-FZ
SELECT TOTAL-FILE ASSIGN TO PRINTER-FZ.

DATA DIVISION,
FILE SECTION.
FD DATA-FILE

LABEL RECOROS ARE OMITTED

01
DATA RECORD IS DATA-CARD.
DATA-CARD.
02 DATA-VALUE
02 FILLER

'ICTURE  IS 9(6)V99.

FD TOTAL-FILE.
PICTURE IS X(72).

LAaEL RECORDS ARE OMITTED.

01
DATA RECORD IS TOTAL-LINE.
TOTAL-LINE.
02 TITLE PICTURE IS X(12)

02 FILLER
VALUE IS "THE TOTAL IS".

02 TOTAL-VALUE
PICTURE IS X(2).

02 FILLER
PICTURE IS 9(13)V99.
PICTURE IS X(102).

WORKING-STORAGE SECTION.
77 RUNNING-TOTAL PICTURE IS 9(13)'/99

VALUE IS 0.

PROCEDURE DIVISION.
BEGIN-JOB.

OPE:d INPUT DATA-FILE
OPEN OUTPUT TOTAL-FILE.

MAIN-LOOP.
READ DATA-FILE AT END GO TO PRINT-ROUTINE.
ADO DATA-VALUE TO RUNNING-TOTAL,
GO TO MAIN-LOOP.

PRINT-ROUTINE.
MOVE SPACES TO TOTAL-LINE.
MOVE RUNNING-TOTAL TO TOTAL-VALUE.
WRITE TOTAL-LINE.

END-OF-JOB.
CLOSE DATA-FILE.
CLOSE TOTAL-FILE.
STOP RUN.

4 9 8
O R  2 1 3



MAIN-LOOP, PRINT-ROUTINE LLFI:  END-OF-JOB MXLa&X  paragraph d~XElPr~~U~l~4
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STMT  LEV NT

I 0 WATER: PROCEDURE OPnONS (MAIN);
2 I 0 DECLARE SYSIN  INPUT. SYSPRINT OUTPUT;
3 I 0 DECLARE NAME CHARACTER (32);
4 1 0 DECLARE KWH FIXED DECIMAL (4);

5 1 0 DECLARE K FIXED DECIMAL (8.2);
6 I 0 DECLARE N FIXED DECIMAL (6.2);
7 1 0 ON ENDFILE  (SYSIN)  STOP;

/* I’RINT  HEADER l /
8 1 0 PUT PAGE;
9 I 0 PUT SKIP (4) EDIT

(‘NAME’.‘USED(KWH)‘.‘AMOUNT(CENT)’,’PAY(DOLLAR)’
(X(26).A.X(26).A.X.(12).A,X(12).A);

1 0 1 0 QUANT: GET LIST (NAME.KWH),
II I 0 IF KWH<=W  THEN K=KWH*. 11.75; ELSE
I2 I 0 IF (KWH<YO)  & (KWN<=540)  THEN K=W’ll.75t(KWH-90)‘3.74;  ELSE
13 1 0 K=.90*11.75+450*3.74+(KWH-540)*3.04;
14 1 0 N=-K/100:
15 I 0 PUT SKIP(Z)  EDIT (N4ME.KWH.K.N)

(X(12).A.X(12).F(4).X(17).F(8.2).X(!6).F(6.2));
1 6 1 0 GO TO QUANT;
1 7 1 0 EhD WATER;
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yes

4
P<ZOO?

I no

C

2

12

3

PROGRAM IN FORTRAN LANGUAGE

READ (5,2) RATE

FORMAT (F5.2)

A = 100

N=O

N  =  N+l

P  =  A*(I.O+RATE)**N

IF (P.LT.200) GO TO 12

WRITE (6,3) N

FORMAT (13)

STOP

END
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START

r - 2 7

read

PRINC, RATE

I ’ INT = PRINC x RATE
I

I-
I AMT = PRINC + IN-I

I

(  S T A R T  )

I-yes
16100?

:::“:

no

print
X

I
I

/

da

‘hhan~ol6n~~4aaea~~
STRT: GET LIST (PRINC, RATE);

IF PRINC = 0 THEN STOP;

INT = PRINC * RATE;

AMT = PRINC+  INT;

PUT LIST (PRINC, INT, AMT);

GO TO’ STRT:
Fdsatn~um~ld@~aaM%u

13

10

1 1

READ (510) PRINC, RATE

FORMAT (F 6.0, F 5.2)

IF (PRINC. EC?. 0) STOP

INT = PRINCRATE

AMT = PRINC + INT

WRITE (6, 11) PRINC, INT, AMT

FORMAT (5X, F 7.0, 2X, F 5.2, F 9.2)

GOT0 13

END
1Ihl%~~lkil~~tifl
090 REM BASIC EXAMPLE

100 DIM A (100)

1 1 0 FORI=lTOlOO

120 READ A (I)

130 NEXT I

140 LETX = A(1)
1 5 0 FOR I = 2 TO 100

1 6 0 IF X >I A(1) THEN 180

170 LETX = A(l)
180 NEXT I

190 PRINT “THE LARGEST”;

200 PRINT “ELEMENT IN THE”.

210 PRINT “ARRAY = )); X

2 2 0 DATA 20, 16, 16 ,.....

2 3 0 DATA 47, 32, 64, ..__.

240 END

R U N
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Fnl~aan-durnEn~~~66~~~  (~7~9~~~F~-SaanaBJa~~aaOeii9~  3)

F&h”aJd 1 2 3 4 5 6 7

DIMENSION A (100)

READ (5,lO) (A (I), 1 = 1, 100)

1 0 FORMAT (lOF2.0)

X = A(1)

DO 12 I = 2, 100

IF (X .GE.A(I))  GO TO 12

X = A(I)

1 2 CONTINUE

W R I T E  (6,9) X

9 FORMAT (lX,‘THE  LARGEST ELEMENT IN THE ARRAY = ’ ,F3.0)

STOP

END
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~lW~S~i3  (Data base)

Ihe  data base approach

PayrOll
data
inventory
data

InvoiClng
dala

OIher
d&a
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x3Junl4¶hJ~aUablElEl  On-line hJ~T&4~~~a  (Data Base)  h’uhhrsnsai  Query Language

H?O  CICS (Customer Information Control System) b@VJi  DBMS (Data Base Management

System) ~lP9~l~PJ5:R1US1US”PSj?S~~~~~l~~~~a

OR 213 5 1 7



5 1 8 OR 213



OR 213 5 1 9



I 
I

I
r

4

% Y w



-

+

-

OR 213 5 2 1



Processing Output IllPUf Processing Output hlpttt processing Output
lob 1 Job I Job 2 Job 2 Job 2 Job 3 Job 3 Job 3

L?&mJnilviu 3 JIU

Overlapped processing

IllpUt Processing

Job I Job 1

Output

Job 1

ItlplJt Processing output

Job 2 Job 2 Job 2
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r-Program

overlay

area

Main

Program

Program

overlayL1

J

Program
overlay 3
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